N rogvvavmk 0-sv7o711-% NRU30. 40

Rotary Actuator Integrated with Hydraulic Cushion NRUS30, 40

¥ B Feature

QO FERND/N KOV vy a ERBLTVWETOT, BROAKZIHNED->THREL
A b aTT—~aPBENET,

QL NP PRICESTWETDT, DT 7 F 2T -2 EDHEAEDEICHAPBETT,

OEO 2 SREICMHBRD TEIX by N EEEFLTVET,

OX 1y FRATFDBEICHEICIYMF 5N, EERERE TSI ENTEET,

@This rotary actuator is integrated with an adjustable hydraulic cushion so that it can be
obtained optimum stop motion in proportion to the load.

@®It's easy to combine with other actuators because the output shaft is hollowed.

@The stopper is equipped for positioning the rotation's ends precisely.

@The sensor can be fixed easily in the grooves for check the rotation's ends.

B EAE Ordering code

Option
*Tva>
NRU [40 /- 90 |-[SH2
L SH2:-+:NSH-24VERf (FIkARH)
FEZXA v F ——{ (check for the both rotation ends) Lead wire is directed in straight.
Proximate switch SV2:-++“NSV-24VEUf} (FsmigH)
(check for the both rotation ends) Lead wire is directed in right angle.
e et AL L
Rotation angle 180°
U E =
Number of type 40
EARK
Basic type
£ # Specification
& X Type NRU30-90 NRU30-180 | NRU40-90 NRU40-180
MR Working media B®IT Filtered air
{EFES Operating pressure (P)MPalkgf/cm2} 0.3~0.6 {3~6.1}
EERE Ambient temperature € 5~60
G : AE (fem7T28B8E 2 —E Hm1fE (ISOVG32) 1H45%)
# 8 Lubrication
Normally not required. (But if necessary, use 1st sort of turbine oil equivalent of ISO VG32)
E{+&38 Mounting position HIBR% L No restriction
1) > 5% Cylinder diameter mm 30 40
IEEIAE (E) Rotation angle (degree) 90 T 180 90 I 180
4w 23> Cushion N FA7 v Y a > TEIFAER  Hydraulic cushion is adjustable at both ends
®k7vYavBE (B) Max. cushion angle (degree) FfIB15 Each 15 at one side
R%h hJL 7 Actual torque N-m 16(P—0.16) 36(P—0.14)
HFAI XX Allowable energy J 0.8 10 »
BEEIEERE (1) Rotation time (Note 1) sec 0.5~2.5 0.7~3.0 0.5~2.5 0.7~3.0
RARX 7 X MFE Max. thrust load N 200 460
B®AZ T IVEE Max. radial load N 300 710
2 > 4B Cylinder volume cc 38 72 85 165
AFEEE Weight kg 4.5 5.0 7.9 8.9

(GE1) BEPHMESELECEIVEBHLET, (F2) IN=0.102kgf. 1J=10.2kgf - cm
{Note 1) Itis variable according to the load and controller. (Note 2) 1N=0.102kgf. 1J=10.2kgf - cm

120




N rosvyvavmm o-9u7sFar—-v NRU30. 40

Rotary Actuator

## & Structure

N kL s
@/3 v Y | s

o-6)0 _oXe—©
27

B -

i b4

37 B=2
38 ER %

39

581 (41) (42) (43) (44) (45 46) (47) (48) (49 50

NRUBO-ZUFoF2I—2 A8 G O 704y hEALT,
2ENEZ b (B) #0-5Fz—> (13 TRV, 2704 v MilE+
1) TRBLABECESTUVET,

EXb>Oy FAQ) D/ —XHFYUSEAy FADICABE, ER b
@) vV Eny KD DRICEE RS LD F=— Ko
LEoTHRNERS N, HEY Y V3 OBEELYET,

Rotary actuator type NRU is composed that 2 pieces of pistons @f)

are connected with the roller chain [3) through the sprocket of the output

shaft (@) and filled up with oil @, at the sprocket side.

When a nose of piston rod {@J is entered into the cylinder head (‘1;2\) )
“he oil sandwiched between the piston @) and the cylinder head 1@')
“are squeezed its flow by the needle {7 , which can result a function

of hydraulic cushion.

INyF*2UZ B Packing list

No. NRU30 NRU40
2 P26 P36
5 S16 S22
APG30 APG40
RGY-30 RGY-40
15 S71 S95
25 P21 G25
33 P36(X=7Ywv ¥ Oring ) P46(X=7Y v %7 OQring )
35 S63 S80
38 S70 S85
46 S$10 S10
49 S6 S6
53 S26 S36

121

Integrated with Hydraulic Cushion NRU30, 40

N
|
A
o
W
=
\
Q3
@
o
®
5]
=
5
o
o

No. % ¥ Pars # & Materials

1 Ay K#/3—(1) Head cover (1) T7IIE&%&E ALalloy

o) QY >% Oring = MYJLI L Nitril rubber

3 RAEACHLL®H# C shape ring A5 L Z$l Stainless steel

4 EX b Piston R)FE42—) Polyacetal

5 0OY>% Oring = MUYJL3 L Nitril rubber

6 |IT7HIER b vy %2 Piston packing at air side | = b UL L Nitril rubber

7 | ARIEZ biXy % Piston packing at oil side | = b UL L Nitril rubber —
8 ~J %y b Magnet 4rkIL Rubber e
9 Ef/iE®% E shape ring 27> L X8l Stainless steel 2
10 EX b0y K Piston rod %38 Carbon steel sl
11 4L Oil %—E >l Turbine oil g
12 P4~y K Cylinder head X3%4M Carbon steel Ny
13 F1—> Chain = “ H
14 A1 Body 7ILI8%E Al aloy H
15 QY% Oring Z RY LD L Nitril rubber »
16 Ay F7L—b Head plate FIIE&% ALalloy ‘

17 | "ARfTE 754 Hex. Plug —

24 ECHE D& C shape ring A7 L X8 Stainless steel

25 0O >% Oring Z bYJbI L Nitril rubber

26 Ay RH/N—(2) Head cover (2) Firs& AL alloy

27 | RARfF& 757 Hex. Plug —

28 I7HR— b~ Airport — (N F |
29 27> JE> Spring pin %38 Carbon steel

30 ZXF—JK—JL Steel ball X7 > L X8l Stainless steel
31 BRIt %2y 7 Tap for load — I'}
32 H#h Output shaft %338 Carbon steel O
33 oY >%7 Oring Z bMYJvI L Nitril rubber &
34 N 2% Housing TII&% ALalloy <
35 0oy >4 Oring = hMUJLT A Nitril rubber )IJ
36 | RANRMERIL N Hex bolt == ]
37 ~N7F >4 Bearing #1548 Bearing steel g
38 oY >% Oring Z MYJLI L Nitril rubber T
39 Z by 7RIV b Stop bolt M Carbon steel -
41 7% >% Flange o5 ] ‘:’r
42 AfFEBft 2 v 7 Tap for body — Carbon steel _’:
43 Z k¥ Stopper REE4R §
44 | RARMEFIL L Hex. bolt — Carbon steel g
45 | ABARFEAIL b Hex. bolt — 2
46 0Y>% Oring ZhUNTLA

47 | 7v¥a>=—FJ)v Cushion needle ¥ $A Nitril rubber

48 Z— K/ 7 Needle knob ¥ $8 Rare steel

49 0Y>% Oring = dYdL  Rare steel

50 | RARMELEHHL Hex. set screw — Nitril rubber

53 oY >% Oring ZhUNTL

54 = -

55 = b

56 T4 22%7 Oiltank — Brass

57 #&m7> 7 Plug for supply oil —

58 | RENfT&LEHNL Hex. set screw =

uopisod 8y} ¥28U0 O} YOUMS £ 4 Y IHEET)




N rogyvavmi 0—-sv7oFax-9 NRU30. 40

Rotary Actuator

Integrated with Hydraulic Cushion

NRU30, 40

CEALE®D;ER Caution for its practical use

FANary Ghi:#91/2)
/ Oil tank (Oil quantity: About 1/2)

DO E

// Pressurizing circuit

I7EHHEL TV AVRRBEZZVTTEL,

1. AECEASIWEZ o IPRBIRTVWET,
(HiEEP1312BBLTT L, )
FANE AL ENMIBICLTREL T, IO LS IICER
BEEBLTTEV,

O (L5 I hSARADEEIZTSY 17) @) 05 b—FB&EV
MIBDTZ 79 L TERL TTFEL,

OFBELVAAINEZL IR AAUPRBEIATVET, EBER
ZThZhORARMETSTEMUHLETY, T1IUDHEBEL
ETDTEBLTIT->TTAL,

@R EFICIE. Fry IR, AFALEEEBRYRFFLEVTTRL,

@HNED I IF b DHEZDEREN 22 E D= HICHIEL EVWTTELY,

2. AANELTICHAI (8—E 15 (ISOVG32) 1HY5H)
EHIRETHIBLTTEV, ANBELEVWLSICERLTT AL,

QG HTABERAES LU I LE L IADEBI 7 2Z2ICHW
TSI TTEW,

OHEAFDEdR, FIEFICA L2 7 DMED FRREL £ TFH -5
TWESAITIVEHELTTE L,

3. AEERIES SUBEOEIEEL Y., AEAI7EMHBL TV
BWEZRICHDESMZNRIPSEEEVTTEV, ASOF—>
PIEAAHRE T,

Qi ICHEERTHEATABAIR. T7EHRVAEEZICETDES
THH#EPEINBZZEPHNETOTERLTTEIV, ZNDIH
BlCiE. BMERMHUBTHELEIEIEPEER I TTF S,

4. AHEERENCINBOERAEFERTIHEER. 2TITF/-X b
AR TLy v 2 ERELTTEL,

122

/When air is not supplied, the output shaft shall not be rotated.

L

2

The rotary actuator is equipped with an oil tank. The tank shall be

set at more higher position than the actuator with piping as shown

in the illustration.

@Piping from the oil tank to the actuator shall be connected by removing
the plug either tj;7:) or @) which is located in higher position.

@Since the oil tank is filled with the oil, take care of flow out the oil
from the tank when the plug is removed at the piping work.

@®Don't equip the check valve and speed controller on the way of piping.

@®Don't diverge the pressurizing circuit for the purpose of other actuators.

Supply the oil (1st sort of turbine oil equivalent of ISO VG32) to

one half of the oil tank. Be careful not supplement the oil excessively.

@Exhaust the air completely from the actuator and to the oil tank
when supplement of the oil. .

@Supplement the oil when a surface of the oil is dropped nearly to the
lowest limit during the operation or out of the operation.

. Don't revolve the output shaft from the outside in order to avoid the

chain to be crushed when the air is not supplied to the actuator such

a period of the piping work or stop the equipment.

@Particularly when the actuator is mounted rotating the vertical,
it shall be set the circuit of the equipment to stop the load at the
lowest position. Otherwise, it is liable to rotated the output shaft
naturally by the weight of the load when the air is exhausted.

. In case using 3 position-solenoid valve to operate the unit,

choose "Exhaust Center" or "Pressure Center".



nrroovyvavmk o-su72F7az-% NRUS30

Rotary Actuator Integrated with Hydraulic Cushion NRU30

Sfs%E  Dimension (mm)

Egz75

Rotating direction
220 (268)
58 162 (210)

108

6—M57&10 P.C.D, 23
. s-uszi0 ponzs |/

6-M5X10 depth P.C.D, 23

450
2—Rc1/8#aiAO ERIER .
435 = - 2—Rc1/8 T7H— b
33297 2-Rcl/8 Inlet of oil Normally plugged $14 2R 1/8 Air port
SE | ~r
o
[} 7 1 5
® | "’rﬁ :j L_‘ i 2
o &———— > e =
- ==t ol W ERi o N
® ;l = = Lol i i
© ~ i, mps i u,} 1]
& s 1 v O il 5
60 ‘ﬁr - -5
M6 AARfFEIEDHR LU $12.5 2—Rc1/8faimO EEIBE
M6 Hex. set screw 2-Rcl/8 Inlet of oil Normally plugged
4—M8 13 99 JyalZ—Fns7
a0 30 5 Cushion needle knob
o
ey &, "N $30
2o 1
5 ©
3| 8 e
180" X by /X
H o~
180" Stopper 5 45 8
2—M6 A by FHRI b
2-M6 Stop bolt

GE1) () ASTEIR180° DBETT . (F2) A1 2> I DOTERIEPIBIEEEBL TTF&EW,
(Note 1) Measurements in the brackets shows for the 180° rotation. (Note 2) Refer to P131 for the dimension of the oil tank.

FTJ2 3> Option
WEEX A vF  Proximate switch
Iz, SH2,SV2 Type SH2, SV2

Z4 v F NSH—24VZE 7z [INSV—24V

/ Switch NSH-24V or NSV-24V

e =

18.5

(F1) 2y FREOMUCHBNFUB e TEET, (F2) WREEX M v FOLBKIEP1782 8B L TTE L,
(Note 1) Switch can be fixed on the opposite side too. (Note 2) Refer to P178 for the magnetic proximate switch.

123

Jepuifoopiis g£NAEN yEY

33
Q<
2
\q
§
N
M
{1
&
-
)
[+
=
g0
°
o
[
(]
{ =
3

uoyisod 3yl )98yd 0} YOUMS £ 4 LY IHEET)



N rogyyvavai o-9v7o7a1x—-9 NRU40

Rotary Actuator Integrated with Hydraulic Cushion NRU40

. . ) Bz
ﬂmv;ﬁ@ D|menS|°n (mm) Rotating direction

- 264 (328)

68 196 (260)

138

6—M6#15 P.C.D,30 /

6-M6X15 depth P.C.D, 30

99
460 2—Rc 1/8#8:m0 ERIB
$45 2-Rcl/8 Inlet of oil Normally plugged
$40 g7 B $20 2—Rc1/8 T7H— b
N 2-Rc 1/8 Air port
l - 4.5
o =
~ 5 0 > L TR .
s _¢‘ : & ™ ?\" " E i Z-T i i ; & \ ady
<+ A O 3 | 2 i [ £
i — L - @ R 10 e © i
~ 8 o} o | ¥ ool N\ banct -
. =1 S| s S TP
72 L i 2 81
MeAARAT Z i1 L | | g15 T 2—Ro V/BkHO EMIER
M6 Hex. set screw 2-Rcl/8 Inlet of oil Normally plugged
20 112 .
Jyvar=—FKn/7
4—M8 30 30 L5_ Cushion needle knob
~
- - — — 7 @
= +*
o
g Y L & e
180° X ko /¥ :
180° Stopper e
~ 17| 45 6

2—M8 X by THIL b
2-M8 Stop bolt

GE1) () ASTEIR180° DIBETT., (F2) F1 N4 IV OTERIBPI312SBLTTE W,
(Note 1) Measurements in the brackets shows for the 180° rotation. (Note 2) Refer to P131 for the dimension of the oil tank.

Z7< 3> Option

BEEX L vF  Proximate switch
B SH2, SV2 Type SH2, SV2

24 v F NSH—24VE /= lINSV—24V

@ / Switch NSH-24V or NSV-24V

| S

GE1) R4y FREGHUCOMF B2 A TEET, (F2) BREEX T v FOLBREPI782SBL TT &L,
(Note 1) Switch can be fixed on the opposite side too. (Note 2) Refer to P178 for the magnetic proximate switch.

124



